Info...

e Homework and EMCFs are posted for the week.

e An EMCF was due this morning, and an Online Quiz is due tonight.
e Practice Test 3 is posted.

e Test 3 includes material from 3;,9_19_‘1'—8'

Example: Graph f(x) = —x” —%xz +6x+3
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RN Using Calculus to graph a function y =f(x)
g 1. Domain

2. Asymptotes and behavior at the edges.

3. First Derivative
critical numbers
slope chart
intervals of increase/decrease
classify c.n.

4. Second Derivative
intervals of concavity
inflection
5. Graph!! Use the information above to determine the shape,
and then place the graph by plotting the points

associated with critical values, inflection,
y-intercept and x-intercept(s) (if possible).
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f(x):—x3—%x2+6x+3

(0,23 and [1,59)
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/s f ' and f" are
graphed and labeled with
numbers.

55
1. Which curve is the 5o

graph of f?

2. Which curve is the

\; Redrawn after class with
my tablet sitting on my
desk.

graph of f'?

3. Which curve is the
graph of /" ?

4. Give the number of
critical values of f.

5. Give the largest
inflection number of /.




Example: Graph [ (x) =
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See the Video



